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Gk fim ;% (Buffer Solution) (3 &)

Oppm (ERHE =) (34)

(E)iﬁéiﬁ)i (Accuracy ) fe# sz & (Precision) (6 %)

(IT_UD % ® 2. (Equivalence Point) {=j# <% % (End Point) (6 » )
#)F »x#cF (Significant Figure) (3 4 )

(ﬂ;P v #% & (Blank Sample) (3 %)

(O3 EMn(OH)*k # 23 fa R (64 )
O3+ B Fe(OH)3» k¥ 2.3 f2R (6 4)
i1 1 Kg(Mn(OH)) = 2.0x10™% » Ky(Fe(OH)s) = 2.0x 10 » Ky (H,0) = 1.0x10°™

TR TR kR ik E (pH)

(3 0.10 M NH,CI-k:3i% (6 4 )

() 0.10 M NH,CI 4= 0.050 M NHz-ki3 % (6 A )
(£) 0.050 M NHz k3 7% (10 A )

21 1 K(NH}) =5.70x10™ » K, (H,0) = 1.0x10™

~ O -k (Hard Water ) hg |8 44k ? c?Rigdp 3 2 (24 ) T2 ufpg B f

f"*#”'?ﬁ&ia‘ﬁ“"(? (2 %)
(:) ® 7z 24.5 ppm CaCOszz. 25 mL-k;3i% » 11 ¢ = s=w ¢ & (EDTA) 83 %F T
% 125mLEDTAi % £33 ;#KEDTA2Z £ 2 k& (Molarity) 5 @ ? (64 )
ch3+ ¥ Ca=401:C= 120 0 =16.0

PR RT Lk RHR (Kt d ) Ao AR EKBRESY 28 5T (PDT)
feh s (AC) 38 0 F L% 33 & CuHuN,S, 25 £ Pd complex fr Au
complex » #* = & i+ & #?»Aa\ Gl 485 nmfr 635 NnMF &+ SoJTA & EEX Eal N L
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